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B.Com S.Y Sem. lll (Old)
3042B 2) Financial Management -l
Time: One Hour

Instructions
Solve any 25 questions from Q1 to Q30
Solve any 25 questions from Q31 to Q60

1 The long-run objective of financial management is to:
ST ST ST JES & 2

(A)Maximize earnings per share. (B)Maximize the value of the firm's (C)Maximize return on investment.
ST ST ST S ®ATS, T common stock. AT AT ST SITed T,
AT AT (e {o T aTed .

2 The focal point of financial management in a firm is:
FTETITET (a1 S eITI==T J 2T 6T 378

(A)The number and types of products (B)The minimization of the amount of (C)The creation of value for

or services provided by the firm. taxes paid by the firm. shareholders.
TG T& hed AT IeTEA=1 TG, HTATHT HOTAT A MR ETST oo a3 H7.
3 e of a firm refers to the composition of its long-term funds and its capital structure.
-------------------------- HETIT SAGETATET CAT=AT ETaei FET ST ST=aT Jrsaer=ar
(A)Capitalization (B)Over-capitalization (C)Under-capitalization

4 Which of the following factors affect financial decision?
TET TRl T ek AT Foraray TR ST ?
(A)Cost (B)Risk (C)Cash flow position
e S T e ferdr
5 Which of the following is not a feature of a financial plan?
AT T VT AT o= a9y ATar?
(A)Simplicity (B)Population (C)Flexibility
ey ATFE=AT AT

6 Rate of return on capital is exceptionally high in

WTSTATET I2ATaT &% AR AT 3= 28
(A)Under — capitalization (B)Over — capitalization (C)Working capital
7 Financial management is concerned with managerial activities relating to

AT A=A H T HTEIIHT AT eTar T Saad e

(A)Planning (B)Procurement and administration of (C)Optimum utilization of funds
iRIEE funds Frr=T s=as ITanT
=T =vET T sHa e
8 The only feasible purpose of financial management is
T ATEITIATET UHHT & 38
(A)Wealth Maximization (B)Sales Maximization (C)Profit Maximization
9 Capital Budgeting is a part of:
FfFeeT aOTRIT 8T Ud W 318 :
(A)Investment Decision (B)Working Capital Management (C)Marketing Management

10 Financial management mainly focuses on...

(A)Efficient management of every (B)Brand dimension (C)Arrangement of funds
business d Frd=Tr szerer
W& AT T EH T

11 The concept of financial management is.
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(D)Maximize market share.

FTATA ST ST aTeT.

(D)The dollars profits earned by the
firm.

TG AT ST .

(D)Market capitalization
AT S feAsheor

(D)AII of the above
T TG

(D)Foresight

T

(D)Fixed capital
frfo=re wisafasr

(D)AII of the above
T qF

(D)Assets maximization
AT ST STed 0T

(D)Capital Structure
qisge =T

(D)AII elements of acquiring and using
means of financial resources for
financial activities
AT FReReTraTST sraETT
et s aroa= 19 ged



(A)Profit maximization

TR AT T
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(B)AIl features of obtaining and using (C)Organization of funds

12 What is the primary goal of financial management?

ST ST AT e T8 F =18 ?

(A)To minimize the risk

ST AT T

13 The finance manager is accountable for.

fa=r s SEEe o TE.

(A)Earning capital assets of the

company

FOIET AT ST ATAHT Fesaur

(B)Effective management of a fund

14 The market value of a share is responsible for.

(A)The investment market
A AT

15 Finance functions are
fa @ TR

(A)Planning for funds
EURISEI

16 Which is called as Dividend Ratio Method?
AT FHTT g 7 AT FHzed Sl ?

(A)Dividend Yield Method
AT T8
17 Capital Employed is

(B)The government (C)Shareholders
qT HITHT R

(B)Raising of funds (C)Allocation of Resources
BT e eor HETA aeT

(B)Debt Equity Method (C)Asset Method
Tt FHAT TGd ATAHT TG

(A)Cash + Bank (B)Shareholders Funds + Long Funds (C)Assets + Cash
RUCREED AT AT + &1 FeT AT + T

18 Which is a capital expenditure?
rSalr @< HoTdT 78 2

(A)Research and Development Project (B)Project Generation (C)Project Expansion
O T faae wadheT SeheT AT e fae™

19 Which is the internal source of finance?

(A)Outstanding Payment (B)Provision for Taxation (C)Depreciation funds
JFATH IT FET AT qET FET

20 Which is the functions of Financial Control

AT RE=Om=ET FOrAr # Aw T

(A)Audit
ey

(B)Planning for Control (C)Accounting Functions

PRI ICRRIEE AT FE

21 The Financial Management is responsible for the

AT AT TR 8

(A)Controlling of the organization

GIENREL

(B)Organizing training programmes  (C)Recording the transaction

22 The finance manager plays an important role in

far saeTTE AT e e aerad

(A)Liquidation Decisions

AT FUTar

23 Which is external source of finance

fa=r =T SRy ST Frar
(A)Letters of Credit
ESRER
24 Dividend is given on.
AT T
(A)Equity Capital
HHAT HisdeT

(B)Reconstruction (C)Amalgamation
TAEAT TR FIIT

(B)Finance from Companies (C)Advance from customers

(B)Borrowed (Debenture) Capital (C)Debt Capital
FT ([Be=) W= For Msaer
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(D)Effective Management of every

financial resources for company BT derer company
operations SEF I TATET T
fFresaTam=T = rfor oI 99
afersesr
(B)To maximize the return (C)To maximize the owner’s wealth  (D)To raise profit
s e ST SITeT &or ATARET ST ATTRTT FOUAEST AW Areqor

(C)Arrangement of financial resources (D)Proper utilization of funds

T g ame

(D)The respective companies

ifrer

(D)AII of the above
FEA T

(D)Equity Method
HAT 9gd

(D)Bank

EED

(D)AII of the above
T T

(D)AII of the above
T T

(D)AII of the above
FHT T

(D)Finance function of the firm
FraEET faw @

(D)AII of the above
T TG

(D)AII of the above
T TG

(D)Bank Loan (long term)

g Tt (S gEarEmer)



Examination October 2020

25 The unlevered cost of capital is:

firm with equal parts debt and
common stock in its capital
structure.

HTSaeATET ATAT Foe :

(A)The cost of capital for a firm with no (B)The cost of capital for a firm with no(C)The interest tax shield times pretax (D)The cost of preferred stock for a
equity in its capital structure. debt in its capital structure. net income.
TETEIT FHES T T SaeT e T I SqAT=AT Hisaer=r e = & fores ger feaes Ior=T.

26 The cost of debit capital is calculated based on....

(A)Net proceeds (B)Annual Interest (C)Annual Depreciation
Feaes o1 arfys =T arfye =FawT
27 - is called as dividend ratio method
AT AT THTIT Tgd S e
(A)Debt Equity Method (B)Dividend Yield Method (C)Equity Method
Ft GHAT TG AT T FHAT TET
28 Which of the following are financial Assets?
TTEATS T FOTT AT AT ST ?
(A)Bonds (B)Machines (C)Stocks
ars ERiE |rer
29 Which of the following is short term sources?
(A)Bank Credit (B)Public Deposit (C)Commercial Paper
dF I BIEECE-C FAIIIT TIT
30 Working capital means the same things as
FHYT ATSaeT TN A
(A)Fixed assets. (B)Total assets. (C)Current assets
fere AremT. TR AT, |Te] ATRAAT
31 Net Working capital means
FHLT ATSaeT TS
(A)Total assets minus fixed assets. (B)Current assets minus current (C)Current assets minus inventories
T ATATAT FAT (EI7 ATART. liabilities AT ATAAT FT Jaa
9] ATAATT a7 =] &&ar
32 Working capital management means ____
FATT MTSae HTEITTT 7|l
(A)Short term Assets and liabilities (B)Long term liabilities (C)Long term Assets
ST GEATET ATARTT AT e A AN AT A AT
33 The Company’s Cost of Capital is Called
FIAET WISTATE! TRAT /Ol
(A)Leverage (B)Hurdle rate (C)Risk rate
AT TSTH T ST a7
34 Cost of retained earnings is equal to
FIT STAAT IeT~T=T B a8
(A)Cost of equity (B)Cost of debt (C)Cost of bank loan

35 Net Working Capital is the excess of Current Assets over

FeAes @esd WiSaeT ¥l =Te] AT TTaT Sed

(A)Current liability (B)Net liability (C)Total payable
EIERAIPI) freaes aThreT T TR
36 Dividends are paid _____
AN AT S|
(A)Monthly (B)Quarterly (C)Semi-annually
qHE EGISED ECEIRED
37 Owner’s equity stands for.
AT HTSae 9.
(A)Fixed Assets minus Fixed Liabilities (B)Fixed Assets minus Current (C)Current Assets minus Fixed
Frfesrer arerer=T g ffssa gedar Liabilities Liabilities
HET ATAHTT a9l 97e] a4dr AT ATARAT aaT ATy=ra gaar
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AT ATSTATIST AT 2=
. R o

FHAAT FHATST ATHThd & (&l

.

(D)Capital
BIECED

(D)Asset Method
HAIAHAT T8 d

(D)1 and 2
1 =rrfor 2

(D)AII of the above
T 7

(D)Current liabilities.
e AT

(D)Current assets.

(D)only short term Assets
Fe AT qEAET AT

(D)Return rate
EAGSIEIRES

(D)Cost of term loans

HEAr=AT &A= e

(D)Total liability
U IS

(D)Yearly
arfys®

(D)Total Assets Minus Total outside
Liabilities

THIT ATART AT THIT STETETAT
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38 In weighted average Cost of capital, a company can affect its capital cost through

(A)Policy of capital structure (B)Policy of dividend (C)Policy of Investment

39 During the planning period, a marginal cost for raising a new debt is classified as

(A)Debt Cost (B)Relevant Cost (C)Borrowing Cost

40 The Cost of capital is equal to required return rate on equity in the case if investors are only
Saer AT & aaU @Y A Tdd $14ae [ai o Savad Taredr asdad e

(C)Assets Seller
AT fashar

(A)Valuation Manager (B)Common stockholder
TEHTI AT AT T idaest

41 What are the factors that contribute to the Business Success?
FIEETT FIEAT BVATEST T Fedh a1 2dTd ?

(A)Marketing resources

(B)Physical assets (C)Financial factors

[EEEERSEICED ifera ATerEET i e

42 A company pays dividend at the
FIAT AT &

(A)End of the week (B)End of the financial year (C)End of the month
SIS T4 AT avT=T TraT Afg==mr s=e

43 The assets of a business can be classified as

FITEETSAT ATAT I G R0T el ST ITehel

(A)Only fixed assets (B)Only current assets (C)Fixed and current assets

Fdes Rfv=a Aremr Fdes AT ATATTT Fege sfor erear=r ArerAT
44 Dividend Payout Ratio is:
FATIToT Z2aT AT :
(A)PAT Capital (B)DPS + EPS (C)Pref. Dividend + PAT
Tt FfieT e + e HUEFR ATATI + TIEr
45 Cost of Capital refers to:
TiSaeT TReAT |l
(A)Flotation Cost (B)Dividend (C)Required Rate of Return
FACIT BT AT HAEYTF AT &
46 Which of the following sources of funds has an Implicit Cost of Capital?
FTATATH FTCAT HST=AT JATUEET W SToAT B 18 ?
(A)Equity Share Capital (B)Preference Share Capital (C)Debentures
47 Which of the following has the highest cost of capital?
HTATATH FOTET T SaeAT=T TReAT e e 18 2
(A)Equity shares (B)Loans (C)Bonds
gfeaer qemT For afs

48 Cost of Capital for Bonds and Debentures is calculated on:

(A)Before Tax basis (B)After Tax basis

T ARTATTAT FITHAT ST 9rETT &7 &7
49 Which is the most expensive source of funds?
Fri=T SaTa JENTSr SUrdT 2 ?
(A)New Equity Shares (B)New Preference Shares (C)New Debts
TAT AT 9T TAT AUEFH HIT T Tl
50 Dividend declared by a company must be paid in
SRR STE el AnTor fefT JrfesT
(A)20 days (B)30 days (C)32 days
20 Raer 30 Raer 32 ke

51 'Constant Dividend Per Share' Policy is considered as:

Fie BlEss Il 937 TiaE ! ATe o Tor A S
(A)Increasing Dividend Policy (B)Decreasing Dividend Policy
52 Which of the following is not a type of dividend payment?

(C)Stable Dividend Policy
feure aratsT Jeor
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(C)Risk-free Rate of Interest basis

(D)AII of the above
T T

(D)Embedded Cost
EERSIELE-G

(D)Equity dealer
HEZCIRC I

(D)AII of the above
T TG

(D)AII of the above
T 7

(D)None of the above

FETCAS FETET AT

(D)Pref. Dividend + Equity Dividend

FUETFH AT + SFFae T AT

(D)None of the above.

(D)Retained earnings.

s FaT T

(D)Preference shares.
HATET HIIT

(D)None of the above.

FECAH FEET AT

(D)Retained Earnings.
Heaa 7.

(D)42 days
42 Fae

(D)None of the above

FETAUH FErET AR
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(A)Bonus Issue (B)Right Issue
T 59T ITar HET
53 Capital Budgeting is:
isaol ARSI U A8 :

(A)Long-term Decisions (B)Short-term Decisions

54 Every company should follow
T ST AT el TEaT

(A)High Dividend Payment (B)Low Dividend Payment
=T ATATIT & FHT AT 5T

55 Capital Budgeting Decisions are:
VST eI For = =R

(A)Reversible, (B)lrreversible,

I, STFEa,
56 Capital Budgeting Decisions are based on ____
TSaeT SRTITTHT AU ITaY SATHTha e

(A)Incremental Profit

(B)Incremental Cash Flows

T TH qerT U TGI8
57 A project is accepted when ___
THETET TeheeT STeal ST STSer
(A)Net present value is greater than  (B)Internal Rate of Return will be
zero greater than cost of capital
TS AT
58 Projects with are preferred
Tehea =T FTET= Bt STer
(A)Lower payback period (B)Normal payback period
FHT IAT FATTET AT 0 S FATTIT
59 on capital is called ‘Cost of capital’.
(A)Lower expected return (B)Normally expected return
FAT SAITEreT Toarar AT S Tarar

60 Under Net present value criterion, a project is approved if ___
FreAes aaeT Joar=ar RasiavTd Yo Hoj? ST av
(A\)lts net present value is positive

(B)The funds are unlimited

FraT s o

== fedes aaqH o G o

EE

(C)Share Split
e feee

(C)Both (A) and (B)
aT=ar (37) =arfor (@)

(C)Stable Dividend Payment
ferr i =

(C)Unimportant,

HEAET,

(C)Incremental Assets
AT AT

(C)Profitability index will be greater

than unity

TH THATTT AL 9T SITed e

(C)Higher payback period
I=T WAhS FATTIT

(C)Higher expected return
STET S fare arar

(C)Both (A) and (B)
rear (T) =TT (4T)
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(D)Both (B) and (C)
(dT) =Arfor (&) =T

(D)Neither (A) nor (B).
(o1 @) FT () SATEIT.

(D)Fixed Dividend Payment

HEAMET AT

(D)AII of the above.
T TG

(D)Incremental Capital.

TETT VST

(D)AII of the above

RN

(D)Any of the above

AT HOTTar

(D)None of the above

FETAU FErar ATer

(D)None of the above

FEATH FETE ATEr



